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04 1 5/8 - - - - - - - - -
04 2 6/20 -031 -061 - - -0.48 - - 074 081
05 1 /7 -058 0.65 - - 081 -068 -0.58 -044 -0.05
05 2 9/1 -0.20 -0.44 0.23 0.26 0.08 0.21 020 053 0.58
06 1 6/19 057 0.30 - - -0.26 -0.36 - 0.26 0.15
06 2 8/8 0.30 -0.06 - -0.17 0.39 -0.48 -054 -021 0.14
06 3 10/11 095 053 -0687 -0.50 0.23 -0.39 =057 -0.06 0.21
07 1 6/25 0.15 037 =061 -0.38 0.56 -0.46 -060 0.05 0.42
07 2 7/14 0.29 048 -0.72 -0.67 053 -0.69 -0.69 -0.34 0.58
&+ &+
1) 7
2) 100
3)
4)CP ADF ocw Oa ob WSC ADF><
Ob/0OCW
5) 10% - 05
04 1
2 N Y
2) DM 3 %DM
(N-P-K,kg/10a/ ) kg/30min , CP ADF OCW Oa Ob abr=<obocw WSC oa+wsc
15.3-9-19.8-36 14 0.93 378 211 262 483 158 325 175 115 273
2N 25.4-9-19.8-3.6 1 0.46 388 236 257 482 169 312 165 110 27.9
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